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Discussion and decision
1. Introduction 
Through the discussion in the previous RAN2 meetings, number of SCells with RACH in a STAG seems not clear. In this paper, we would like to clarify RAN2’s common understanding on this issue. 
2. Discussion
Through the discussion in the previous RAN2 meetings, number of SCells with RACH in a STAG seems not clear. The following two arguments have been observed.
· Option_1: One SCell with RACH is configured per STAG
· Option_2: Multiple SCells with RACH can be configured per STAG

In Rel10, only one cell, i.e PCell, is configured with RACH in PTAG. Thus in basic, single RACH configuration should be also sufficient for STAG and it is more aligned with what we have done in Rel10. With the multiple RACH configurations, it can be argued as follow: 

· It’s up to the eNB implementation.

· It can be used for polling to decide if the corresponding cell should be remained in the same STAG.

· If the current RACH has a problem, other RACH belonging to the same STAG can be reused.
But in our opinion, it was agreed that TA groups are more static and the UE assisted information is not needed for managing TA groups, so polling may not be needed. Even if it is used, the RACH is not the only option and the network can use other UL channels. Last some kind of enhancement mechanism when the current RACH has a problem was already discussed in Rel10. It is assumed the PTAG is much important than STAG, so there seems no much motivation to enhance especially STAG. Meanwhile more signalling overhead would be brought due to the update of RACH configurations. Thus we would like to propose one SCell with RACH per STAG in order to align with PTAG unless a good motivation is shown for multiple SCells with RACH per STAG. 
[Proposal]: One SCell with RACH per STAG
3. Conclusion
In this paper, we would like to clarify RAN2’s common understanding on whether one SCell with RACH or multiple SCells with RACH is/are configured per STAG. Unless a good motivation is shown for multiple SCells with RACH per STAG, it is proposed one SCell with RACH per STAG in order to align with PTAG. 

































